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The half-life of Cs-137 isotope is 30 years. If the initial amount of this isotope is 50 units, the
remaining radioactive amount of this isotope at the end of 30 years will be
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Radon-222 IS

Produce In iIndustry
A man-made source
A liquid substance

x mmon environmental hazard
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qQuestion No. 4

For resistances that are connected In SENes the equivalent resistance 15

equal the smallest resistance
{ess than the gmallest resistance
equal the biggest resistance

bigger than the biggest resistance
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it alamp in a 110-V electric circuit draws 1.5 amperes, its power rating Is ,
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Question No. 2 n n n

The half-life of Cs-137 isotope is 30 years. If the initial amount of this isotope is 50 units, the
remaining radioactive amount of this isotope at the end of 30 years will be
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